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Direction : Answer the following questions by selecting the most a@‘proprlate option.
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Which type of education would be
appropriate for socially deprived

children ?
1) Informal education
2) Special education
3) Inclusive rgducation
4) Religiou':g’education
v
A
U . )
Which of the;%llowmg statement is

correct regarding adolescence,

under  Erikson's  Psycho-social

development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego—iden(&ty iIs a neutral
psycho-sglz:ial aspect.

4) Ego-iderifity is not just a
psycho-sgtial aspect.

Which of the following characteristic
is notseen in a creative child ?

1) Divergent thinking
2) Extreme curiosity
3) High imaginations
4) Conventiona‘d‘thoughts
P.T.O.
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4. Which of the following characteristics

does not have a positive effect on the

process of socialization ?
1) Socially approved behaviour
2) Playing approved social roles

3) Development of social attitude

Fd

4) Development of social

prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even

under guidance of
knowledgeable person

If a learner does not achieved the
expected pe;formance, what type

of testing is done to find out the
reason ?

1) Formati

) ative .
2) Diagnostic
3) Remedial

4) Summative
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"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2008
2) (NCERT
o

3) YNESCO
4) BNICEF
<

Which type of changes occur in
growth and development ?

(a) Change in body size
(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
ChQ[ESG the correct code :
Coéjts :

<
1) Q), (b) & (c)
2) (@), (b) & (d)
3) (@), () & (d)
4) (@), (b), () & (d)

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation
hehaviour
fos)

impairs learning
( . . . . .

2) Motivation provide definite
:’%‘irection to learning behaviour

3) Motivation energizes learning
behaviour

4) Motivation makes learning
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Match the stages of morality with
their level, under the Moral
Jopment theory of Kohlberg :

Deve
Stages of Morality Level . of
Morality

(a) Good interpersonal I
relations

(b) Individualism  and 11
exchange

(c) Social contracts and III

" individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@© @
) 1 I I I
2) I 11 Im I
3) II 111 I II
4) 1II I I I

When the learner learns-a task
automatically, without any desire
or purpose, then it is called :
1) Massed learning

2) Whole learning .E?‘”"SE
4) Incidental learning

Which of the following statement is

not true regarding biological
motives ?

1) They are universal
2) They are inborn

3) They are essential to survival
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following
examinations are the basis of

continuous  and comprehensive '

evaluation'?
(a) Written

(b) Oral.

(c) Behavioural
(d) Practical
Choose the correct code :
Code :

1) (@, ®) & (@)

2) (@), (®) & (c)

3) (@, () & ()

4) (), (d), (c) & (d)

Which of the following statement is

not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

perforniance test.

2) Verbal test can be either
individual or group.

3) Illiterate people cannot do

performance test.

4) In non-verbé.l tests intelligence

is measured through pictures

and figures.
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Which of the following pair j n
correct regarding elemeng :
intelligence and their dimeng,
under the Three Dimengj,
Intelligence theory of Guilford |

Elements of Dimensio,l%
i

Intelligence

Product !
2) Cognition Operationz
3) Evaluation Operation;

4) Relations * Content |

Which one of the following is not%
key feature of child ,__c_:_entre{

learning approach ?

1) Meaningful learning
opportunities |

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not |

the -interrelated processes of -

observational learning ?
1) Attentional Processes :.E‘"L ‘*5’5

. o

2) R i '
) Retentiong] Processes

3) Motivationg] Processes
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18 qogl ® HNT%I'EB ST R 3 18. According to Bandura's Social
IR, 94 BE R ge'ﬁ P TR Learning theory, what is it called
qﬁ @ER SR ?ﬁm T IR O when a person learns the same
aal %, al e e B 7 behaviourg by observing and
repeating l’é’[b behaviour of others ?
1) SR —_— 1) Adaptagon
s :
2) STTTH-JeyoT e 2) Self—oﬁérvatlon
3 HisfoT 3) Modeling
4) | geen 4) Efficacy expectation
19. & & Brdw Rwim 8 el 19. Which sub-component is not included
g ﬁF{E«' T B 3U-42h in componential intelligence under
g 78 B ? ) the Sternberg Triarchic Theory ?
1) A geH 1) Meta component
2) YANToTH T2 2) Experjmental component
3) IR s 3) Perforffance component
4)- §M [SPEM (Gﬁﬁ) gch 4) Knowlegge acquisition component
| 20. Th oI MEEar S SRR 20. Alearning:ﬁisability that affects the
BT T ARTS Pl AT B © acquisition of arithmetical skill is :
1) e@hagern 2) feantwa 1) Dyscalculia 2) Dysgraphia
| _3) fewfmmr 4 ReEFARE 3) Dyslexia 4) Dysmagnisia
;' 21. WES & HAAGNE faw REgia @ 21. Choose the correct sequence of

f R :

} 1) gEEenr — [T gEeeEr -
| LR -  JeEeEr o
‘ SEEIERICIR)

3 gaEenr - TEEn o [
i o B R CE N G
SEEIERICISl] ‘
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the five stages of Freud's Psycho-

sexual development theory :

1) Oral stage — Phallic stage —
Latencyystage — Anal stage —
Genita‘g}ftage '

2) Anal stage — Latency stage —
Phallic;%tage —> Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage N

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

B P.T.O.
v
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According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentatioﬂ of natural
conditionedétimuli will most affect

learning ?
1) Simultaneous
2) Delay
3) Trace

l‘\
4) Backward

(@)

i
In which sta% of Piaget's Cognitive
Developmerﬂ: theory does the
ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational
r
. o :
Which of therfollowing educational

arrangemer‘@ shouldn't be made
for 'talentedét?\udents ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program

and

54
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26.
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Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without

discrimination

2) Provide accessible

infrastructural facilities

3) Identify their special needs
and exclude them from

mainstreaming

4) Provide necessary support

% P.T.O.

services
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28. Which of thgzﬁollowing statement 1s
(@)

context of

correg In
developmenly |
1) Develop?rfient is the product of

maturation and learning.

2) Later development is
critical than early development.

not

more

3) Development proceeds from
head to foot.

4) Development proceeds from
central egg’s to extremities.

(@)
— .
0. TS R @ Homrd Risid e 29. The three Jimensional model of
| 2 i feean = ? the inclusive education
| ‘ propounded by whom ?
1) Py, fR @ Rewires 1) Griffith, Cooper and Ringlaben
?
2) TRX W faet 2) Gartuer and Lipsky
3) ET T S 3) Kauffman and Hallahan
_4) A, SfoE T g 4) Levenski, Davis and Hooper
30. “AMENET H FY & A dadt 30. "Socialization means attaining of
¥ gfugear STHT HHERIET B I8 maturity inhsocial relationships."
ofeeTe fres g R E 7 This definitton of socialization is
' given by Wh%}ﬂ?
- <
1) S S 1) JohnDewsy
2) e 2) Garret
-9 AT 3) Sorenson
4) & 4) Hurlock
wd B B
::'. W
&
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P.T.O.

2) araiarqzara/haﬂrq
3) SIS = T F + 39
4) M = TG + M
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46.

41.

4.

3) till

Fill in the blank with the correct

option :

Note it down ........... you should
forget it.

1) that 2) because of

4) lest

Choose the correct option that
gives the meaning of the given
idiom :

Spill the beans
1) increase work
2) face a greatloss

3) toleak asecret
4) segregate

Fill in the blank with the correct

_option:

49.

The Pak army turned hostile .........
ISIS.

1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :
Please give me some more time.
1) Some more time might please
be given to me.
2) Some more time fnay please
be given to me.
3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[Level-3/1311]

50.

51.

52.

G\

Which of *Q'he following options

express thg[correct meaning of the

sentence given below ?

No sooner did I reach the college

than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reaclied the college and the

bell W%ag;),rang after.

3) Althoudh I reached the college
the beltbegan to ring.

4) As soon as [ reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"
1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a

charm'%g‘g sight.
4) He said®to me what a charming
sight it !
<
N@
Fill in the sBlank with the correct
form of'the verb:

| a lot of calls today.
1) had have
2) has had
3) have had
4) had had
P.T.O.
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53.

54.

55.

56.

asid:
iges |

Which of the following sentences 1S

the correct option 10 express a

probable conditipn ?

1) IfI were a bggd, I would fly to
you. ‘;""

2) If you touch\@ live wire, you
will get a shoCk.

3) If you will read this book, you
will learn grammar.

4) IfIhad reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect:

He thought / he @1 be able to do/

A - 9 B

whatever he waﬁ%d / with his job.
C = D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in&}le Palestinian
N
= cause,
C <f D
: O
1) A &) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

% 1”7
[ Level-3/1311] ;'-ﬁ
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51.

58.

59.

60.

Fill in the plank with the correct

form of verb :
When I last «cooeooee™

deeply involved in debt
1) have met 2) met
3) has met 4) did met

Fill in the plank with the correct

option : :
How did the thiel ...... the padlock.

1) open
2) opened
3) had opened

4) had been opening

Fill in the blank with the correct
'"Modal Auxiliary':

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought
3) Would 4) Must
Arrange the following jumblec

" options in the correct order amnc

then choose the correct option 3
(A) is heartening
(B) 1s going abroad
(C) the news

(D) that she

1) C,D,B,A L
2) D,A,C,B Eﬁéﬁé
3) D,C,B,A
4) D,C,A,B
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selecting the mos@ppropriate option.

wolnd [17/A]

SRR / QUANTITATIVE APTITUDE,
o0

(02}

61.

62.

=¥

If A stands on his head with his
face towards North, in which
direction will his left hand point ?

1) North-East
2) West
3) East =

o

4) North—&est

<

o}
A boat goég' 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10 km/h
2) 12km/h
3) 13km/h
4) 15km/h

In a grougof 15 people, 7 read
Hindi, 8 réad English, while 3 of
them read<pone of these two. How
many of Jhem read Hindi and

English both ?
1) 0 2) 3
3) 4 4) 5

P.T. O.

.. =.- -
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64. @mﬁssﬁwﬁfﬁﬁ,fx—ww

65.

66.

61.

[ Level-3/1311]

f Y ¥R B W W IR A
oF ™M | ¥ G C @ WM F A
FH A A A, A CH AT AR
HA-T B ? '

(h‘-.
o0
- [8)

D el
2) 10a1 ©
3) 11at =
4y 128t
w REd He A 7 'CEG' & TSR
q1 FHJ' @ 'QPO' feman SIm ®, Q@
gﬁrwwﬁmwaﬁmﬂ
ST cet —
1) NOP . _of®
2) NOL @ P
3) NMK - |

g.;:’%
4) NML \©

L

el EAML @ fraw @rdfes 9 S9
S G B 7

1) 1

2 2

3) 3

4y 4

@

TR B F ST 7 2 8 @ g
1) 1 2) 8

3) 9 4) 11

XX r |
:F-H‘H :
:i" el (

64.

65.

66.

61.

In a class of 35 students, A is
placed Tth from the bottom
whereas B is placed oth from the
top and C is placed exactly
between these two. What is A's .
position from c?
1) 9th
2) 10th
3) 1llth
4) 12th

In a certain code language 'CEG' is
written as 'TSR' and 'FHJ' is written
as 'QPO', then in the same code
language 'IKM' is written as :

1) NOP

2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?
- L

2) 2
3) 3
4) 4

The ratio of an interior angle to the

exterior angle of a regular polygon

is 7: 2. The number of sides of the
polygon is :

1) 7
3) 9

2) 8
49 11
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frfoied der §aar # STl 19
S i

£416, 14, 26, 2

D 38 © O

©
2) 34

3) 35
“4) 36

69. - A &R TH <& Hl 9Tdha 8 gUe H,
T B & § <% F oW 6 §ue A
TS Ghal 31 AR AN T B
Y 2 §¢ % fiY Eie & uean
A H g & A &Y, @ 77 B &N
ST & e WY ST ?

1) 2 g ¥
2) 2% "¢ H
3) 3 g% H
4) 3% 9o |

70. 3Ife 5 ivea Yed # 38 « 15 = 32,
62 % 91 = 7 ¥l 74 + 81 = 29 &, @
3G Yod § 47433 H AN B ¢

1) 40
3) 38

2) 41
4) 53

71. 3% 17 _RE=R, 2002 & Af@ER o,
o 22 fRE=R, zoo4a?raﬁ7f—wﬁ?f
qr 7

1) @R ) 365
2) aFER L %

3)" HER . 1

4) HIER Yy
[Level-3/1311] 3]53 | 5\3
2 .

1R

68.

69.

10.

11.

| Bl

& [19/A]

g %

Find the next term of the following
number senes

(%, 3, 10, 15, 26,7?

1) 33
2) B4
3) I5

4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,

then pipe B will fill the tank in :

~
o0

1) CEhours

2) 2% hours
O

3) & hours

4) 3% hours

In a certain pattern, if 38 = 15 = 32,
62 * 91 = 7 and 74 % 81 = 29, then
in the same pattern the value of
47 %« 33 1is:

1) 40 2) 41
3) 38 4) 53

l\
If cf was Saturday on 17th

De%mber, 2002, what was the day
on gind December, 2004 ?

1) fSunday

2) Saturday

3) Monday

4) Tuesday

E;-l-' !!ii P T. O.
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[20/A] i |
’ next of the series is : ‘
2. H STy 12' Thezm x2D, V6G, T21], ? |
LR gl R ' | |
1) R87 9 1) R8IM |
2) R8IN © 2) R8IN ‘
3) R88P 3) R88P |
4) R88M 4) R88M |
. ‘ |
73. SO T E A ot A 73. In English alphabet, the number of |
FAF e B BRA Bls T R letters skipped in be.twee-n
denr A @"T B ST B, adjacent letters in the series 1S :
Frffeg APESE fF-d 3@ MEm decreased by one. Which of the
H TR B © 7 following series observes the rule ? 5
1) DJOTV 1) DJOTV !
2) Djosv 2) DJOSV
3) DJOSW 3) DJOSW
4) DIOSU 4) DIOSU
74. x-S, y-o& 3‘3& 4x +3y =12 & 74. The radius of the circumcircle of
RIER] %rﬂﬁ % E‘@H % B ® the triangle made by x-axis, y-axis
N and 4x +3y =12 is:
) 2 ¥R 1) 2 unit
2) 25 T 2) 2.5 unit
R i 3) 3 unit
H ¢ R 4) 4 unit
75. 9% W BIG H@ea s b, 75,

[ Level-3 /1311]

15463 & gl T O AFTHA 107 §

ot frefora 2w @ -
=

1) 52 =

2) 85

3) 11

4) 16

:I..: ..-.=:!

Find the least number which must

be added to 15463 so that the
resulting number is
divisible by 107 ;

1) 82

2) 55

3) 11

exactly

4) 16

PRI i,

el L N e i i
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76. TR @ gy ¥ RRy orgue H Pt
" Yo e R e By #® e g W
TN W 20% F A & 7
1) 1:5 2) 2:5
3) 3:5 4) 4:5

11. @ﬁfs‘ﬁnﬁnmu%aﬁmmqr
o g & [T wHIRE ST T §X

N
—
1) 52:51 <
O
2) 52:80
3) 51:50

4) 53:50

is.qﬁA,Bamc%Z:i:E%
2°3'5

I § ol @R U AT AR
RhaTl 4 WTE UeeE A T ot Tt &
50% &1 & a¥ & o= 3 g
21,600 &9 HNEW A @, @ T
@ ¥ A B W T

1) 2,400 &9

2) 3,600 B9

3) 4,000 T1

4) 4,200 B9

19. Th I 20% B W 0F g B
Yo B, AR T kg A 12 W
g & e T =¥ 10% @ @
@WIWE’(@%@WW%:

1) 22 5@ G
2) 30 &9
3) 36 &9
4) 40 T9Y

[Level-3/1311]

b

76.

11.

18.

19,

4) 853:50

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:8

3) 3:5 4) 4:8

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2

yearsis:

1) 52:51
2) 52:50
3) 51:50

If A, B and C enter into a
partnership with shares in the ratio

1,%2.5 After

2 3 5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis: ‘ -

4 months, A

1) Rs. 2,400 |
2) Rs. 3,600 —_—

3) Rs. 4,000 e Es

4) Rs. 4,200

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs. 22

2) Rs.30

3) Rs. 36

4) Rs. 40

P.T.O.
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[22/A]
80. a%+a* 1-a*
l1-a 1++/a

1) ﬁ

p

3) a—fi

8 ﬁ

81. UlelRs Mg g1 oraRed ¥

1) o oo #

2) Fou ot o

AB) TR B F
4) Yo foret #

82. %9 BRI 7 oFRG, 2023 ¥ AT

Tegd @ e e 7

1) "9 fqeE

2) ey faeg
A3 I fewrg

4) [

83. @ & frefiRed Tougey 7
B OTE W U ST

1) 2 gadR
2) A GIFET G &l
3) 41 &R ot ard

) A et Rie ey

[ Level-3/1311 ]

-

- 80.

81.

82.

83.

a%+a” 1-a

1))

2)

3)

4)

-V
is equal to:

1-a 1+~va

e SJ2 s
A641987

[—]
I{m
o))

Historical village Sugh is located

mn:

1)
2)
3)
4)

Ambala district
Kuruk?hetra district
Yamuganagar district
Panctfula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1)
2)
3)
4)

Who amo

Sandeep Bishnoi
Rohtash Bishnoi
Ajay Khichad
Mohit

the following Governors

of Haryanawas an ICS officer ?

1)
2)
3)
4)

Shri I%arma Vir

Shri Nfﬁzaffar Hussain Burney
Shri Hari Anang Barari

Shri Surjit Singh Sandhawalia

|- R R

20
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g4. AHBEIN U F WEA WG FW &

2) Prasi

D) AW H
_3) A 4) qew A
85. il mﬁim%f?w e H weEE
SinIE o
1) s | &2) wrie &
—3) oRed #  4) HET H

86. ERATT Far F AHR FAT & FeA
AYFR DTS T

1) &t do dio T
2) & fas g+

3) = WY GRR
4) = FE T
-

81. Y feEemrE §aﬁﬁ Frefatad
Eﬁ?l:ﬁiﬁfqm

() T arg & farer 4
(i) IR T R A
e A, G B w0 A B

W@WW{@%{Q:
1) Fad FIF (i%;eéi%
2) Faq FA (IAE

3) 7@ FaT QoK T & F G
T '

4 A e (1) R (i) T B

. . o B8 Bt
[ Level-3/1311] :{djéi

84.

85.

86.

81.

[23/A]

The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani

3) Thanesar 4) 'Rohtak

Geeta Jayanti Samaroh is
celebrated in the month of :

1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana

Who is the Chief Commissioner of
Right to
Commission ?

1) ShriT. C. Gupta
2) ShriVijay Vardhan i
3) Shri Rajesh Khullar :
4) Shri Vikas Gupta

Haryana "Service

Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.

2) Only statement (ii) is correct.

3) Neither statement (i) nor

statement (ii) are correct.
4) Both the statements (1) and (ii)

are correct.
P.T.O.
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se.aﬁqrﬂnwm“&zfﬁqﬁmw

1) Sad, 1967 g;
N
2) TI=R, 1966
<
3) AR, 1980 ©
L
4)/61713*@, 1996

90. shE@Em # WRdAH™
eI el Red © 7

88.

89.

90.

In Haryan
Breeding Centre is located ?

1) Pinjore
2) Panipat
3) Jhajjar

4) Bhiwani

When the Haryana State Co-
operative Agriculture and Rural
Development Board Ltd. was
established ?

1) January, 1967

2) November, 1966
38) March, 1980

4) January, 1996

Where in Haryana, the Indian
Institute of Information Technology
is located ?

1) e 1) Sonipat
2) 2) Panipat
{W 3) Ambala
2 W 4) Kurukshetra

A641987

[ Level-3/1311] P
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qrr— IV / PART - IV
g / COMMERCE
riy : Prfied uset & ooR 3% & Rie g SR foed g

. , s [~ )
Direction : Answer the following questions by selecting the most apgropriate option.

T
[)
o

C[25/A]

91.

e

T Ruly el @@ wEe
AR & TGER FAA ¥ s &
ST B

1) FFETERE 9N

2) olqeniRe €N

3) b SEE
9&1@6@@%%@

92. I SiEd =k X9 forgd R Sam

o foEhl TSN § ded @l ®

1) 9= @O

o ga T

93.

-

3) URURICT STa
4) g o

Preffad § & A-€ T Sifh-a-
1) FHrdE —_

| %
2) TR ATEH %’@

3) REces
4) Ve FIRTEl

[ Level-3 /1311]

91.

92.

93.

(o))
i

o Ak ; ;
A condition ig which information
inflow 'exceeﬂs an individual's

processing capacity :
1) Informal communication
2). Formal communication

3) Accurate information
[~ .
4) Informati% overload

i
<

The product ‘é‘ife cycle stage in

which a product's sales start

climbing quickly is 3
1) Introduction stag’é
2) Growth stage

3) Maturity stage

4) Saturation stage

Which one ofrihe following is not
an off-the-job gaining method ?
T
1) Job Rotatien
' (X
2) Classroorﬁfl.iectures

3) Simulations

4) Vestibule Training
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[26/A] . R

94.@%{&&1@@?%%%
qumﬁ:

1) W&’ﬂTﬂ%G@W
(O)

2) Wﬁa@w
(e

3) "9t it ST

4) EIA B SAGLERAT

95. am@mmawﬁqﬁaﬁﬂﬁm
eﬂwmemﬁvmﬁaﬁwwmﬁ
TSk ¥ ) -

t"‘\.

. oo
1) qaiaiﬂrmri%@m
2) el S

A& ) IR @
4) T { BE T

96. TH FOH T @ U W Fegmy
T FA & 7
1)/ Alt +F1

2) Alt+F3

AG641987

- 3) Alt+F2

4) ESCkey

[ Level-3/1311] “.I:ri

94.

9s.

96.

To make others behave in'way in

which they would not have

pehaved otherwise :

1) Need of affiliation

2) Need of échievement
3) Need pf power

4) Need of association

The process of monitoring and
evaluating the nature and
direction of change in the business

environment js :

1) Environmental analysis
2) Environmental scanning
3) Both (1) and (2)

4) None of these

For creating a company we use :

1) Alt+Fl
2) Alt+F3
3) Alt+F2 :

4) ESC key
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97. 78 FER 5 Sudiem wH & waid

98.

~

ST T9 d% del GOt S| a6 6
™ = IR | R SR R &
T T W

PLk cIRsEr il
2) T & STFURM
3) YR STIEROM
4) wﬁzﬁﬁwaﬁw

T, 9 T O SER-aNET @
sfed §T WEER &1 1 9, 2023 &
ST o0 WA A QW TR 50,000,
q% T 40,000 T1 WE T 30,000 B
ST PRl gefT T % 20,000, A
Z 2,000 T &S ¥ 5,000 3 T H
I ARG H U B

5ooao - L)\O‘DU\?O gﬁo’“’u

Qo

9. 0©
1) W % 50,000, arrs§ % 40,000,

g ¥ 30,000

2) TFT ¥ 20,000, 4% I 2,000, 8

% 5,000
_ 3, T 70,000, ag T 42,000,
EET
35,000 cp
o T & 3 %

[Level-3/1311]

91.

98.

4!.'
»
.

The idea that consumers will not

[27/A]

buy enough of the firm's products
[
unless it u%\élertakes a large scale

selling and,:ﬂromotion efforts :
(@)

1) Selling@oncept
2) Product concept
3) Promotion concept

4) Societal marketing concept

X, Y and [Z‘ are partners sharing
prof1ts 1n2equa1 ratio. Capital
balances Gfélﬂ April, 2023 are X
¥ 50,000, Y ¥ 40,000, Z ¥ 30,000.
Their private assets are : X
¥ 20,000, Y ¥ 2,000 and Z ¥ 5,000.
What is the extent of their liability
in the firm ?
1) X ¥ 50,000, Y ¥ 40,000, Z
¥ 30,000

h .
2) X X @000, Y ¥ 2,000, Z

3 sooti;'

3) X ¥ 7@‘000 v ¥ 42,000, Z
¥ 35,000

4) None of these '
P.T.O.

o 1. At
5
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: a‘si%mqaﬁmmﬁﬁsan/v'wﬁ
o 1/7 A R oI R ¥ O, AR

) T g 1 T SR &

e
A 1y 7:3:3  2) 14:6:8
) +11: :6:15
Y @)/zé.u.so 4) 14:6
2 [~

(@)
W(ﬂ)iqﬁﬁ%ﬂwmaﬁﬁ
W O A Areet
r H orampa el
A T e B R
=T H T &

St B T dA b AR
TE YU 37 S |W
R T e Sedt
BT Bl S 6 H
S Sl PR W AW

O
TR A g

& (R)

. A S A & TR gRd A
BOgEN PR o
A

1) A MR LT iR R &
@ E e g ’

O
2) A 3R R N wdE
P TE A T Y

[ Level-3/1311] g'_.."‘ !a
- |}

WR,A

=TT TY ] N (o4 g ) B - - —
& A 9_) %t dnd Y sharing profits 1l the ratio

% Wwﬁ7:3ﬁwww y of7:3admithor3/'Zsharesmthe:,
Y oeh 7€ o § S B 8/7 o fixm which he rakes 2/1 from.

100.

X and 1/7 from v. The new ratio of

X Y and Zwill be : |
1) 7:3:3 2) 14:6:8 |

3) 29:11:30 4) 14:6:15 .

i
i

Consider the following statements : |

Assertion (A): If a shareholder

amount of one or

fails to pay the [
f

more calls on his

shares,
company
forfeit his shares.
the
of |

Eiren after
forfeiture

Reason (R)

shares, that share-

holders is |
responsible
pay
due from him until
the company
receives full

to

the amount |

amount on those

shares.

Now select your answer according |
to the coding scheme given below:
1) Both A and R are true and R i
the correct explanation of A.
Both A and R are true buit R 8
not the correct explanation of & !
Ais true but R is false. : i[

A is false but R is true. | %‘

1
J
4

2)

3)
4)

the
may |
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arw&'m“ 5 T @A sryqr
1 7 ® AR A RS 3,50 000
AR

1) 88,000 . 2) ¥30,000
3) 3,000 4) < 3,50,000
102. o &

ﬁmIGqf%ﬂg%Tiiz 5,00
H W gg A% 58 3
w8 @ F R B =
e § @il @ T, FHege §

- 5

o

PEE

\

¥ 10,000 38R B

2) SfqE ® G %%?%zhw@f
%soooaﬁazsam
)mm%@@aﬁwm
J/}WG@"WI 2
4) Wﬁﬁﬁéﬂ'&%'

~

103. sl o (Wfy) & SR @
PHROT & o © |
() T gRad
(b) S fafy § gaw

(c)ﬁfﬁmmmqﬁﬁw

(d) A ar @Hrrairmg‘c' % f
waﬁwﬁtﬁaﬂ?

1) I (a) Had
2) IR (a) 37 (b) A0
) @, ®) R ()

@), (), (¢) AT (A)

[Level-3/1311] :.:E!ES

.S-PIP

) SfE & A Bee F I o

i [Z9TA]

101.

102.

5«2

103.

Current ratio is 4 : 5 and quick

ratio is 8 : 7. If current liabilities

are ¥ 3,50,000, the amount of
——

inventory is :

1) ¥35,000 2) 30,000

3) 3,000 4) % 3,850,000

Z 5,000 received from sub-tenant
for rent énd entered correctly in
the cash book, is posted to the
debit of the rent account. In the
trial balance :
1) The debit total will be greater
by ¥ 10,000 than the credit total.
2) The debit total will be greater
by ¥ 5,000 than the credit total.
3) Subject to other entries being

correct the total will agree.

4) None of these

Obsolescence of a depreciable
assets may be caused by :

(a) Technological changes

(b) Improvement in Production
method

(c) Legal or other restrictions

(d) Change in market demand for
the product or service output

1) Only (a) above

2) Both (a) and (b) above : psae

3) (a), (b) and (c) f % |

4y All (a), (b), (c) and (d) |
P.T.O.
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104, R qRT B Rew g@ o9 B O

I TR
/:1) SURH H B

2) dfwRis wau
3) mmmmﬁm
4) o T IRl

105. %ﬂaﬁwaﬁ%mm%:
/ﬂ aﬁﬁasrﬁthm
2) TR W T I
3) FAGE H A

4) T § BE TE

106. FAfigd & @ HF-91 HRYARE A
H T TET & 7

1) 3fte AR st
2) iR SRaH

/gj/agqrﬁ(a%mmaﬁ%nﬁf
EESEISK
4) TR I8

10Z. TF B, g@wvﬁqg@
EEaE  FEA B ST
%

1) 9 fed e
2y S e e
3) farendl dmes :

WWW

[ Level-3 /1311]

i

104. Money rece
warrants is Shown as -

1) Shareha]ders funds

2) Long te;m provisions
3) Other lcmg term liabilities

' 4) Other cuq:&ent liabilities

105. Provision for Discount on _Debtors :
1) An appropriation of profit
2) A charge on the revenue
3) Anincome of the business

4) None of@ese
—

<
106. Which one &6Pthe following is not a

characteristic of charismatic

leader ?
1) Vision and articulation

2) Personal risk

3) Sensitivity to follower needs

4) | Conventional behaviour

107. A sma}l, dore organization that
outsources ¢ major
functi is '

tions 1S &y

business

1) Bounda;:?g less organisation
2) Virtual organization

3)
4)

Learner organization

Simple Organization

jved against share
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109. ﬁﬂﬁmﬁﬁ@raﬁw-wmsiaﬁ

qT 7@ B 7
| by & 5
Co
. ' N
-
2) TEHH TRMes
<
3 TR ww
4) AT

. @ ggdr @ e N S
@R g & fee a7 SR €

—/ffqa:nwaﬂwlﬁ’
2) WWW@@T
3) ﬁarrvrwrrr%zsraTW
4 T A 9 A

o Bt R
[LeVE|-3 / 1311 ] :}.ﬁ

108.

109.

110.

[31/A]

An organisation structure that

creates dual lines of authority and
combines functional and product

departmentalization is :
1) Complex structure
2) Function structure
3) Matrix structure

4) Production structure

Which one of the following is not a

barrier of effective communication ?
1) Filtering
2) Selective perception

3) Interestlevel

What right does a consumer have

4) Emotions

against unfair trade practices and

exploitation ?

1) Right to Information

2) Right to Equality
3) Right to Seek Redressal

4) None of these

P.T.O.
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111. @ahaﬁaﬂ%ﬁw%,agaﬁ
i IR HETl © -

1) STHSY

p(a:rﬁqw

3) STH-TEIEHR
%@'ﬁﬁa’
112. SUHFT SO ot & STgER

Prefifed § ¥ @9-a1 @9 T

g7

/ﬁﬂtﬁwﬁwqﬁwmﬁﬁ
sprieeat i arf

2) oG oM H A R i
@ﬂﬁ?ﬁﬂWEﬁf@'ﬂTﬁ&T

i I

3) ﬁw@mﬁaﬂmaﬁl

g THE IR FERT o &
T A A BT S wdfey
ERINCIEIRS BRI i
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111.

112.

The driv[g
person is%apa
' I

ol bs" i
:l" 1
nle

o w"s {
IL" : i
{
!

to become What aﬁ

ple of becoming is

called: <

1)
2)
3)

4)

O

Self—agtﬁualization
gSelf-esteem
Self-realization

Self-motivating

_ o~
Which of gp following statement is

—
incorrect<t according to the

O

Consumef®rotection Act ?

1)

2)

3)

4)

District Forum shall consist of a

lady social worker.

State Commis$ion shall consist
of a person who is or has been

a judge of a High Court.

District Forum shall consist of

four nmembers.
(o0

N (O))
atlonal Consumer Dlsputes

_ Redré%al Comm1ss1on shall

consist of g person who is or
has been a judge of the

Supreme Coﬁrt_

of B o e
b
]
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[33/A]

113. Depreciation is the process of :
1) Valuation of Assets
2) Allocation of cost
3) Both (1) and (2)
4) None of these

114. Dividend received by other than
financial enterprise 1is shown in
cash flow statement under :

1) Operating Activities
~ 2) Jnvesting Activities
VS/ Financing Activities

4) General Activities

115. Match List-I with List-II and
select the correct answer using
codes given below the lists :

List-I ~ ListII
(Accounting (Objects)
Standards)

(A) AS9 @) Revenue
~ Recognition

(B) AS 10 (ii) Property, Plant |

and Equipment

(C)AS 16 (iii) Segment

_ Reporting
(D) AS 17 (iv) Borrowing costs
Codes :

A B C D N
1) @). @) @) @) %
2) @ @) () G '
3) () @{i) @v) (i)
M @ () (v) (i)

P.T.O.
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116. Prfaq § & dw-@ FH T

111.

[ Level-3/1311]

g 7

o) af & o § Wi AR e ¥
e 3 ¥, @ daw P ¥ @
& ST S R

3y R Ak wh MiRe qEaEt 7
e § oTiad W& R

4) R 4 =l guiEl @ 9o
T W e s B

frefofeg & @ aF-T1 = @8

3 ?

1)/ WA Hiferh  fear wr feeRmm,
froar @d § Sfee Rem s
aifen '

2) THET # @IE U, W -
T T A B AT @R
e Rear o =R ¢

3) A A H I W ¥ Ay
F % =T ¥, W SR @y
Qe S 2

4) @ A B W T Ty
M A T, A TR ety
aav—vﬁ@n%f%qu%aq}ﬁz

116. Which of

1117.

5

.’

afd

pl

ghe following statement iy

incorreqtg

1) Depr&Siation is an amortisedi
expenditure.

2) Stock at the end if appears in‘.
the Trial Balance, is takeq only
to the Balance Sheet.

3) Fixed costs remain relatively
unaffected in a defined period
of timtg‘.

4) Fixedg%ssets are stated in the

| Balarﬁé}, Sheet at their market

W0
value e[

Which of the following statement is

true ?

1) Rent paid to landlord of the
proprietors house, must be

debited to Rent Account.

2) On purchases of furniture the

amount spent on repairs should
be de‘gited to repairs account.
3) Whergérrors are detected after
prep%ation of trial balance,
suspéfg\};e account is opened.
W

4) If the errors are detected after
Preparing trial balance, then
all the errors are rectified

through Suspense account.
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[35/A]

118. Which of the following statement is

true ?

1) Accrual concept  implies

accounting on Cash basis. -
2) Bank Account is Real Account.
3) Ledger is a set of Accounts.

4) Accounting is concerned with

monetary and non-monetary

transaction. %

119. Contingent liability is shown a
note below the balance sheet. This

arises out of :
1) Convention of disclosure
2) Convention of materiality

3) Convention of observance of

law

4) Convention of consistency

P.T.O. .
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o
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[ Level-3/1311]

120.

121.

ol uﬁ
:f_-i!
e

Partnemhlp accounts of X and Y

were @sed for the current year,

Subsecmently, it was discovered

that interest on drawings was not
charged. For rectifying the error,
which of the following account will

be opened ?
1) Pro[\fit & Loss Account

o
2) Pr@t & Loss Appropriation

<t
Acgount
<8

3) Profit & Loss Adjustment

Account

4) None of these

Leader who guide or motivates

their followers in the direction of

established goals by cla:ifying‘_

co
role aﬁg task requirements :

<t

1) Trﬁsformational leader
2) Transactional leader

3) Situational leader

4) Authentic leader

12
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123.

124.
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[37/A]

The rpental ability to analyse and

.,
dlagnor'.e complex situation is
Ao

knowras :
«
1) Human skill
2) Technical skill
3) Complex skill

4) Conceptual skill
[\'
m . . -
Intellg&tual property rights include :
—

< _
1) Patents

<L
2) Trade Mark
3) Copyrights

4) All options are right

Who can check the price
fluctuations in the market by
holding ‘back the goods when

(80) ) 4
price§fall and releasing the goods
e

whenﬁrices rise ?
<l
1) Wholesaler

2) Agent
3) Retailer

4) Mercantile Agent
p.T.O.
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T %
%, q S

125.

126.

121.

 128.

3) 1920

.8) High cost of training | |

i ;
l )
i
|
i

In which year Taylor wrote the»

book '"The Principles of SC1ent1f1@

Management' ? ’5

2) 1911

!

1) 1909
4) 1901
The idea that a subordinate should
have only one supervisor to Whom

he or she is directly responsible : 1
1) Unity of command

2) Unity of direction

3) Readiness of followers

4) Supervision

Which one of the following is not a

computerized

I“& h' ‘;
|

limitation of

accounting system ?

1) Security problem

2) System failure

4) Flexible repor{ing B

When debentures are issued as

collateral security, interest is paid
on: '

1) Nominal value of debentures

2) Face value of debc.entures

%) Discounted value of debenture? '}

4) Nointerest ig paid
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[ Level-3/1311]

129.

130.

131.

132.

ol "
) :
0

[\
In absengc? of any agreement, .
partners a¥e liable to receive
<
interest oridban at the rate of :

[39/A]

1) 6% simple interest
2) 12% simple interest
3) .50% per month simple interest

4) None of these

~

Joint Life CRolicy Account of the
~— M

partners is— ‘

<1

1) Nomin‘%Aocoum

2) Memorandum Account

3) Assets Account

4) None of these

Favourable balance as per Pass

Book means :

1) bebit Balance in Cash Book
2) Debit Balance in Pass Book
3) CredltrBalance in Cash Book -

4) CredltCBhlance in Pass Book

<!1

m . ey
At the time<®f dissolution a liability
takes over by partner is to be
debited to.:
1) InRevaluation Account
2) In Partners Capital Account
3) InRealisation Account

4) In Cash or Bank Account”
' P.T.O.
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133.

134.

1
4
VWhich of the following statement i

correct? \

1) As per Table F rate of mterest\

) 3 !
on calls in arrear is 12%. |
i
r

2) As per Tablé F rate of interest|

on calls in advance is 10%.

3) Loss on reissue should exceed

the forfeited amount.
|
4) Sweat equity shares are those|

|

which are issued to employeesj |

and directors at a discount. I
j |

«—I
L \

The securities premium- amounl \

may be utilized by a company for: | |

1) Writing off any loss on sale o |

fixed asset ' N

2) Writing off any loss of reven®

nature

3) Wl’ltll'lg off

the expense,s/

discount on issue of debentu-f.es ]

4) All options are right % |
)

|
|
J

£
d
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135. The appropriate sequence of the

136.

.4) Personal interview

of B B
L)
l.l.. E

[41/A]

formation of a company are in the

following order :

1) Promotion, commencement of

busine%g and incorporation
D ‘

i .

2) Promotien, incorporation,
Vo)

capital < subscription  and

commencement of business

3) Capital subscriptien,

promotion, incorporation and

commencement of business
l\

. 0,
4) Incorp@ation,

<
subscriﬁtion, commencement

capital

of business and promotion

A selection device used to obtain

in-depth  information about a

candidate is :

1) Comprehensive interview
[\

)
2) Stress iijerview
<

\D -
3) Behavietral interview

" P.T.O.

L2 L
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[ Level-3/1311]

1317.

138.

139.

~ 4) orientation

socialization stage Whgre

The |
individuals confront the possible
dichotomy between their

organizational expectations and
reality is :

1) metamorphosis stage
2) encounter stage

3) pre-arrival stage

Which one of the following is not a

principle of Henri Fayol ?
1) Discipline

2) Remuneration

s
3) Centralization :
4) Decentralization
Software and management |

practices designed to serve the

customer from order through

delivery ang after saleg Service :
1) eCRM

2) ERP

3) E—commérce

4) EDI

el
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140.

141.

[43/A]

With reference to the Micro, Small,
and Medium Enterprises (MSMEs)

consider the following statements :

A. This the

employer of human resources

sector is largest

in India.

B. It generates more employment

opportunities per unit of
capital invested compared to

large industries.

India
of the

industries in

45%

C. These

account for

Industrial units in the country.

How many of the above statements

are correct?
1) Only A

2) BothA&B
3) BothA&C

4) AlA,B&C

Ogives can be helpful in locating

graphically the :

1) Mean e
2) Mode E& :
3) Median

4) None of these
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142. The number Of

143.

144.

subordinates

can efficiently a

ect, iS Called :

manager
effectively dir

1) Management

2) Centraliggtion
os)

3) Span of €ontrol

~H
4) Decentr%izatlon

X Ltd. purchased a machine woz
¥ 2,88,000 and
debentures of ¥ 100 at a discou

of 4%. The number of debentur

in lieu issue

7
w0
=
®
o}
3
o
®

[\
1) 2880 @
N
2) 3000 o
O
3) 2770

4) None of these

Which of the following transactions
will result intg Flow of Cash 2

1) Depositeq 7 20,000 into bank.

2) Sale of furniture of the book
value of T 7

400 at f
¥ 900. o @ s ®

<
debentugys iy
. G o
9 Withdrew

¥ 25,000,

all v
»
|

1,00,000 9%
equity shares.
Sh  from bpank
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[45/A]

-

145. Nature of goodwill, whose value is
the highest :
1) Rat nature
2) Cat nature LA
3) Dog nature :
4) Elephant nature

146. Consider the following statements :

Essertion (A): In double account
system, the final
accounts of a
company fail to
disclose the true
condition of ﬁs
assets.

Because the assets

of the company
are shown at their

Reason (R) :

cost price even
when they are
completely worn
out.
Now select your answer according
to the coding scheme given below :
1) Both A and R are correct and R
s the correct explanation of A.
2) Both A and R are correct but R
is not the correct explanation
of A.
3) A is true but Ris false.

4) Aisfalse butR is true.
P.T.O.
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149. The total of the sales book is ||

o B B
L)

:E;'lr-

147. When one party grants the right f.'
use the jasset to the other party i,
return f& a periodic payment. It g .
known e@'.: .

1) Lea$§‘ financing
2) Factoring

3) Public deposits
4) Debts

148. On retirement OT death of 3
partner, assets and liabilities are
to be shown at old values for
which ag@ount to be opened is:

1) 'Profgiot]& Loss Account ‘
2) Revgbuation Account ‘

|
Revaluation |
|

3) Memorandum
Account

4) Realisation Account

posted to the credit of the :
1) In debtors account

|

/Zj In sales return account |
3) 1 |

n purchases return account

4) NOI@ of these
N

— : :
150. A trans%tion involving a decreas®

In debtedquity ratio and increast
In current ratio ig : '
1) Issue of debentures agajnsf
the purchases of fixed assets ‘
Issue of equity sh:;u‘eS.fOI cash
Issue of debentures for cash

Redemption of preference
g ;

2)
3)
4)

[ Level-3 /1311]
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